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Q.1

Q2.

Q3.

Q. 4.

SCHOLASTIC APTITUDE TEST

How many neutrons are present in Bro-
mine whose Atomic No. is 35 and Mass
nois 79?

1114

2)48

3) 2765

4)44

Chips manufacturers usually flush bags of
Chips with gas.

1) Sulphur

2) Nitrogen

3) Carbon dioxide

4) Oxygen

Name the hardest substance in our body.
1) Head ,

2) Tooth Enamel

3) Bones

4) Jaw

Which mirror is used as a rear view mirror
invehicles

1) Plane mirror

2) Convex mirror

3) Concave mirror

4) None of these

. Name the process used 1o separate cream

frommilk.

1) Distillation

2) Centrifugation
3) Sublimation
4) Decantation
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Q.6. The distance between two stars smea- W6 A F # g 9@ FA AT

sured by the unit FME?
1) Kilometer 1) fperi
2) Light year 2) v
3) Meter 3) W
4) Hectometer o
Q. 7. 'Widal Test is used to diagnose which dis- 5.7 farm A T T & fere faew 2R
ease. o A
1) Typhoid 1y ford qEw
2) Malaria 2) WA
3) AIDS 1) wEm
b 4 ¥W
Q. 8. Name the vaccination given 10 prevent %8 aifes @ o & fog F-w Ficakoy i
Tuberculosis. ST ? @
1) MMR 1) THUH SR
2) RVI 2) WA
3) BCG 3) & <t it
4) RVS 4) I A FEA
Q. 9. Gasproduced ducto incomplete combus- w9 A TEA F Fy-w g wra seafa 2t
tionis %?
1) Sulphur dioxide 1) HER TEAEEES
2) Lead 2) €
3) CFC 3) CFC %R Serl Hred
4) Carbon monoxide 4) FHEA AASEES
Q.10. Main component of CNG is w10 CNG %1 q&d 5e&h 22
1) Ethane 1)
2) Butane 2) ﬂ@?
3) Propane 3y e

s 4) fadm
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011, Aquaregiaisa fresh mixtureof twoacids %11 oy e $ A ol & 3 #

in ratio 3:1 s T e fasm ¥

1) Hydrochloric acid and Nitric acid 1) Wmmwm
2) Sulphuric acid and hydrochloric acid

3) Acetic acid and Lactic acid 2) W S T e A
4) Nitric acid and sulphuric acid 3) dfufyw svw o dfees

4) TEfzE s AU HeRdfen A
(). 12. Anartificial fibre that resembles silk is

}\ 1) Nylon w12 @@ Fm v i fereen e e foe &
~2) pol N
) Rayon 3) @H
4) Acrylic 4) HfEw
| Q.13. The seasonal journey undertakenby many 313 fedi aen wyail = fafvm snfeel gra
species of birds and animals is called 1 ST A dve A R e € 2
1) Migration 1) vEE
| i)) Nomadism 2) /AT F e
4) Hibemation 3. e
4) e friafe

Q. 14. Which organ of the body is affected in

Pneumonia w14 Frif e T e FE-w 3
1) Kidneys Tae?
2) Pancreas 1) T
3) Lungs 2) FHEARE
4) Intestine 3) ¥
4) 3id
Q. 15.MCB stands for
1) Miniature Circuit Breaker w15 TR el oA ¥
2) Miniature Cycle Breaker 1) faffee wfde 3
3) Mini Circuit Breaker 2) m*ﬂ
4) Main Circuit Breaker i; i gt
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Q.16. The brightest star in the night sky is
1) Sirius
2) AlphaCentauri
3) Polestar
4) Pleiades

Q. 17. M symbol denotes
1) Resisfince is not present

2) Resistance is decreasing
3) Resistance is increasing
4) Variable resistance

Q. 18.Cinnabaris an ore of
1) Lead
2) Aluminium
3) Mercury
4) Tin

Q. 19. Which element is fixed by rhizobium bac-

teria

1) Sulphur
2) Nitrogen
3) Carbon
4) Oxygen

".16

718

q.19

Q. 20. Atmosphere of which planetismade upof .20

clouds of sulphuric acid
1) Mars
2) Jupiter
3) Venus
4) Satumn

Q.2
which part of the plant
1) bark ofa tree
2) flower
3) bud
d) leaf

.'Clove', acommon spice, is derived [rom 4,21
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faaft fora urg &1 a9 8
1)

2) FFegHifE

3) W

4) feA

TSI ST 5T FE-91 @ deitga
fopan e & 7

1) TR

2) A

3) wEA

4) SRS

fog e ¥ agHea SehgiE o F
el A AN EAR?

1) HIE U

2) FEHEfd TR

3) UFH R

4) wfiue

‘it W WA R S ae we,
4 & form T A g fear s 82
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Q. 22.In liquids the process of heat transference
is through
1) Radiation
2) Conduction
3) Convection
4) Scattering

Q. 23.1fa person cannot see far off objects, he/
she is suffering from
1) Presbyopia
2) Hypermetropia
3) Myopia
) Astigmats

Q. 24. The process of depositing a layer of zinc
on iron surface is called
1) Electroless plating
2) Plasma Spraying
3) Electroplating

Q. 25.The property of metal by which it can be
drawn into wires is called ‘
1) Ductility
2) Malleability
 3) Reflectivity
4) Conductivity

Q. 26. What do you call an atom that has more
protons than electrons
1) Acation
2) Ananion
- 3) Anisotope
~ 4) Neutral atom

e el S o ARy S R
T fsar g g 22

1) fafewaor

2) =eH

3) Hagd

4) fa@s g
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2) @ gfe

3) fawe gfe

4) gfedyy
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1 FEArd & 7

1) faggmda s

2) T

3) fagga smawr

4) ATATA
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1) eIt

2) meEEHl
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Q. 27. The hottest zone of the candle flame is

Non Luminous Zone
Luminous zone
Dark Zone

1) Non Luminous Zone( Blue flame)
2) Luminous zone (Yellow flame)

3) Dark Zone

4) None of these

Q. 28. In Bhopal Gas tragedy, the gas leaked was
1) Dichloroacetylene
2) Arsenic pentafluoride
3) Diazomethane
4) Methyl Isocyanate (MIC)

Q.29. Interms of surface area which is the small-
est cell organelle
1) Mitrocondria
2) Golgi apparatus
3) Ribosomes
4) Cytoplasm

Q. 30. The eight teeth in the front centre of your
mouth are known as
1) Molars
2) Pre Molars
3) Incisors
4) Canines

. Which part of solar cooker is responsible
for Green house effect
1) Outer wooden box
2) Glass Sheet
3) Inner box (painted black)
4) Thermocol (insulator)

Q.3

w.27

.28

w29

7.30

.31

T 1 &t & ad T 8 HA-wmE 7

Non Luminous Zone
Luminous zone
Dark Zone

1) R aweeRr &3 (Fren ¥

2) WERTIEE/SHE & (e W)
3) SUFEREG HA/SEH G

4) =rd ot T

e Tra e § A- i = e genan?
1) =R @ faefan

2) srAfTE ¥ wiEE

3) e e fads

4) fouea amgd wETE

gt Ahel % SIHR T HEE B T
BA-TE?

1) RAEHEA

2) Tireri/Aiers SYEHl

3) TsEEm

4) Hifew g4

% % A ¥ F IS TR B Fed
g2

1) Bg/EET

2) frdewgd =@

3) BHA/FAH/FHETA

4) @/EFEIE
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2) TEE ¥

3) 3iEy 1 wEE (FHen §2)

4) YUIEE (FEIHF)



_‘Q. 32.Symbol for a battery is
D —|i—
2) —fb—
8) ™
4) —MAA—

0. 33. The type of joint between arm and shoul-
deris
1) Hinge joint
2) Ball and Socket Joint
3) Glidingjoint
4) Pivotjoint

Q. 34. Ice floats on water because
1) Water hasa higher density
2) lce has a higher density
3) lceis lighter than water
4) Water is lighter than ice

Q. 35. Copper metal when exposed to moist air
for a long period develops a
1) Green coating
2) Yellow coating
3) Browncoating
4) White coating

Q.36 What isthe value of *x” in the given figure?

1) 100°
2) 110°
3) 1200
4 130°

Azt 1 wdtE w2
N i

2) —f b

3

4) =—MAA—

a3 N % it forg v @ Sy 7
1) fEsdfy

2) e 3R Tl ST¥/dgE afeo |y
3) vemgfen sige

4) Huu§Y

w.32

W33

a9l # waE W gEfoe i @ i
1) U @ o i #

2) aF & e s ¥

3) &% 9rt A ol B

4) Ut wk A Tow #

a4 F1 HIg @ @A §EY a6 T g4 °
@I W ... Torenfaa 21 it #:

W.34

9.35

.36

1) 100°
2) 110°
3) 120°
4) 130°
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Q.37 Ifx=-2,y =3, what will be the value of %.37 A x=-2,y=3 A d y- yx H 7

Q.38

Q.39

Q.40

Q41

y-yx?
n 7
2) 8
3) 9
4 1

‘The probability of getting compositenum- g 33 1z Y 1 TF &R ITE T

ber when a dice is thrown once is
1)
2)

3)

ales alw ol o—

4)

What is the angle on one side of a line?
1) 9P

2) 180°

3) 270°

4) 360°

What is the square root of 676 7
1) 16
2) 36
3) 46
4) 26

After 5 years | will be thrice the age of my
son. If 1 am 40 years old, what is the
present age of my son ? :
1) 5years

2) 8years

3) 10years

4) 12 years

.39

H.40

T4

g

7m?
1) 7
2) 8
3) 9
4) 1

T T Wi @ a7

o=

D)

2)

3)

4

e W S

o Y O SR R s A ?
1) 90°
2) 180°
3) 270°
4) 360°

676 %1 e faan & ?
) 16
2) 36
3) 46
4) 26

it ad 9 4 g WO H A H 3
on gnft | Af A adaE srg 40 o & A
Ry A e s feRee @ 2

1) sad

2) sad

3) 1o

4) 1294




: i 3"';7.; - B
2) 2K T ey L dban T 2) 225% b
3) 250% - b % 3) 2250%
4 225% . 4) 225%

Q43 Forprofit, what conditioniscorrect? W43 T % feif ¥ e Fr 7w £7
t)SalcPriepCostpnce 1) fawaYmE > #E g
Z)SalePrice = Cost price 2) fea e - HA
3)SalePnce<Costpnce 3‘) o e < 9 e

3‘,’7‘ S \# 4\15" ROWLI l By A

:Q-M 4- [8-(§-2)1 tmmﬂo W44 4-[3 (a.-zy}mt
)t d_ . Fea 1) 0
2) TXSS : -y
»2 | ) 2
gy 4 3
Q45 a’-bisequalto _ %45 al- b*fre o | formd aua ¥
&7 ”1) 3_'(av+'b;)(a+b)‘ 1) (a+b)(a+b)
2) (a-b)(a-b) 2) (a-b)(a-b)
3) aa-b) G
4) (a+b)(a-b) HEER (8- b)

Q46  Ifthe sumof digits ofa numberiscqual to 946 & Frft siem % sie 1 4 3, 6, A 97
3, 6&9&&&4@%&1&0@ a7 e e 1 F frad fawfse 2 2

3.1y 6 6

. 2) 8 2) 8

& i s 3) 9
43 4 3

Q47 Whatisthe perimeter of the square whose .47 6 8., vyor =et = =1 e = g 2
side is 6 cm? 1) 1284
1) 12em 3 2) 148,

3) 168
4) 2484,
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Q.48 Whatis the standard form 0f5,26,00,000  %.48 §,26,00,000 31 Heh €9 1 & ?

1) 526x10° 1) 526 x 10°
2) 526x107 2) 526x 10
3) 526x10° 3) 5.26x10°
4) 526x10* 4) 526x10
Q.49 Whatisirrational number? w49 Fufcg dem # ¥ ?
1) Terminating decimal 1) Hid IHed
2) Non-terminating and non repeating 2) | § FTEd qHea
3) Non-terminating and repeating decimal 3) o7gid @ Edl qHeE
4) None of these 4) TH @ FrE TE
for2yearsaltherateof5%perannum? 5 o # e = frverm 2
1) Rs50 1) 0%
2) Rs150
> Reao o
4) Rs100 . 2
4) 100%
| E=0 "4 N ?
Q.51 Whatis the valueof xin 5 x+ 5=~ w5 Ix+ 3= o x
n 2 2
2) 3 2) 3
3) 4 3) 4
4) 5 - 4 5
Q.52 Whatis the H.C.F 0f 24 and 367 us2 247936 HuEA R E?
1 4 1) 4
2) 6 2) 6
3) 8 3) 8
Q.53 Whatis one third of half of 540 ? W53 540 % 3N 1 gk faerd fareen g 2
1) 90 ) 9
2) 80 2) 80
3) 75 3) 75
4) 60 4) 60

10



Q.54

Q.55

Q.56

Q.57

Q.58

How many rupees are there in 450 paise ?
1) 35
2) 45
3) 25
4) 55

What is the each angle of an equilateral
triangle ?
1) 45°
2) 50°
3) 55°
4) 60°

Which of these lines passes through the
center of India?

1) Tropic of Cancer
2) Tropicof Capricorn
3) Equator

4) Arctic

What is the confluence of rivers Ganges
and Yamuna?

1) Lucknow

2) Ayodhya

3) Varanasi

4)  Allahabad

The largest desert in the world “Sahara” is
in-
1)
2)
3)
4)

Asia

Europe

Africa
South-America

9.54

.55

W.56

0.57

.58

450 ¥ frer TR AR ¥ 7
1) 35
2) 45
3) 25
4) 55

wrarg fave & wodE Fn F A HE
emE?
1) 45°
2) 50°
3) s5°
4) 60°

it B -t Y e e R e 2
1) wH @
2) WA @

3) fagaq @
4) Fdfew @

T 3R g T e R g 2
1) @S
2) awEien
3) amoRE
4) FERTER

fava 1 wad @y frem ‘wEw’ e
ey # fem g ?

1)

2) 7

3) 3w

4) wfar st




Q.59

© Q60

Q.61

Q.62

Q.63

Q.64

Kaziranga National Park is situated in-
1) West Bengal

2) Madhya Pradesh

3) Andhra Pradesh

4)  Assam

Indian Standard time (IST) is calculated
on the basis of longitude-

1) 82:5°E

2) 56.8°W

3) 23.5°E

4) 66.5"°W

Which planet is called the twin of the earth ?
1) Venus

2) Mars

3) Mercury

4) Saturn

Which river runs from east to west?
1) Mahanadi

2) Krishna

3) Narmada

4) Godawari

The star closest to earth is:
1) Polestar

2) AlphaCentauri

3) Sun

4) None of these

The best soil for cotton cultivation
1) Sandy

2) Loam

3) Red

4) Black

9.59

w61

w62

W63

e

THIS AL ITH Fal fegq &2 |
1) ufvaH ame .
2) W W2W

3) Y wW

4) 3THH

YA H WA TG T | fEe e
Tan F Favife fan s 22

1) 82.5°Yo

2) 56.8° 9o ~
3) 23.5°Y0 ‘
4) 66.5° 9o |

T e 1 9o R FE T R 2
1) IH
2) HTE

3) Ty
4) wfF ‘|
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WF a5l ¢ 7

1) HETat

2) Fo
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4) T
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3) ¥4

4) w7
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1) et
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1.65

Q.66

Q.67

Q.68

Q.69

Which of the following is not a rabi
crop?

1) Com

2) Wheat

3) Chick-pea(Chana)

4) Mustard

Annamalai Hills in South India don’t pass
through which states?.

1) Karnataka

2) Kerala

3) Tamil Nadu

4) None of'these

Ocean currents are not caused by this
factor:

1) Eclipses

2) Effects of winds

3) Centrifugal force

4) Precipitation

Which state has the highest number of rep-
resentatives in Lok-Sabha?

1) Madhya Pradesh

2) Tamil Nadu

3) Uuar Pradesh

4)  West Bengal

“Women’s protection from Domestic Vio-
lence’ Act became effective in the year-
B 1995

2) 2000

3) 2005

4) 1992

H.65

R.66

.67

.68

069

13

379 | FIA-H B Tl 6 e 7@ § 2
1) HEFH

2)

3) =

4) wEl

e vda Ao s R % e
T4 | &l et 2

1) FAEH

2) &

3) dfferTg
4) Tt 9 9 =&

HE SR $H HR0 /€T e
1) e

2) 41 H AN

3) IfuF=a aw

4) FHu

g # f5a 759 & gieg g9y dfhs
#2

1) T g

2) afyerrg

3) IWWRW

4) ufyem wme

wigenaii #1 gean F ferw st fm &'
el AT T 7

1) 1995

2) 2000

3) 2005

4) 1992




Q.70 Kangra and Lahul Spiti became a partof %.70

Q.71

Q.72

Q.73

Q.74

Himachal Pradesh on
15th April, 1948

2) 25thJanuary, 1971
st November, 1966
15th August, 1947

N

3)
4)

Who was the first ‘Vice-president of

Independent India’ ?

Dr. Rajendra Prasad

Dr, Sarvapalli Radhakrishnan
Lal Bahadur Shashtri

Dr. Bhim Rao Ambedkar

1
2)
3)
4)

Which of the following is not a means of

communication ?
1) Newspaper

2)

3)
4

The slogan *Do or Die” was given by:
1) Pt Jawahar Lal Nehru

2) Mahatma Gandhi

3) Dr. Rajendra Prasad

Sardar Vallabhbhai Patel

4)

The first state to adopt ‘Panchayati Raj” in

Television
Train
Radio

India is:

1)
2)
3)
4)

Sikkim
Rajasthan
Punjab
Haryana

wn

R.72

.73

.74

fewraer waw H wimer au @ere feerdt fare
1 faera e g3 ?
1) 15 A% 1948

2) 25 SHEd 1971
3) 1 A 1966

4) 15 3T 1947
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%2

1) HHMER 9

2) e

3) EmE
4) e
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3) e
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Q.75

Q.76

Q.77

Q.78

Q.79

Q.80

The Head of Indian Parliamentary System
is -

1) Prime Minister

2) President

3) ChiefMinister

4) Loksabha Speaker

In India, Laws are framed by:-
1) Executive

2) Legislative

3) Judiciary

4) Police

Our ‘Panchayati Raj’ System is
1) Twolevel

2) Three level

3) Fourlevel

4) Fivelevel

The minimum age to contest Lok Sabha
election is:-

1) 18 years

2) 30years

3) 2S5years

4) 35years

When was the United Nation Organisation
constituted?

1) 1945

2) 1947

3) 1950

4) 1942

Who is known as the “Sher-E-Mysore™?
1)  Shivaji

2) TipuSultan

3) Akbar

4) Babur

w75

0.76

w77

W78

w79

W.80

W HHETg 73 1 ufa w6 g 2
1) wYEHEE

2) T=gfd
3) Hex Hl
4) wHEY A

FA A 1 F e #2
1) &4 wiferam
2) faum wfes
3) = uifde

4) qfew

THN YErga eFee fhe wHg 8 2
1) fg-wim

2) fB-wia

3) wgd-wig

4) YE-wlY

WYY F @ T8 & ferg ZgFan Ay
farefi 7
1) 1834
2) 30ad
3) 2s5ad
4) 3599

WY T WY I T FHA g8 ?
1) 1945
2) 1947
3) 1950
4) 1942

T | WR-u-A RS we e €2
1) femarsit

2) &Y gemH

3) IFHM

4) EET




Q.81 ‘Paper” was invented for the first time in u.81
1) India
2) China
3) Britian
4) ltaly

Q.82 The Oldest Veda is- .82
1) Rigveda
2) Samveda
3) Yajurveda
4) Atharvaveda

Q.83 In exchange to ‘Spices’ the European W.83
merchants offered the Indians-
1) Petrol -
2) Gold and Silver
3) Raw-material
4) Cotton

Q.84 Who defeated ‘the ruler of’ Magdha® with w84
Chankya's help?
1) Chandragupta Maurya
2) Ashoka
3) Alexander
4) Samudragupta

Q.85 The 1857 revolt started at v.85
1) Meerut Cantonment
2) Kanpur Cantonment
3) Delhi Cantonment
4) Ambala Cantonment

Q.86 How was Razia Sultan related to Htutmish?
She was his-
1) Daughter
2)  Wife
3) Mother
4) Sister

.86

T 1 SR weAvem g 29§ g ?
1) “Ra
2) =
3) faew
4) weE

T B T WA g wa-wm g
1) #ag
2) HHAT
3) agds
4) HAydFe

T S Tl % Wge WRAT 9 T
EEC RGP

1) W

2) H-HE

3) = HE

4) HUH

T T 3 A i g Ay F IS F
T ?

1) TETa e

2) FWiH

3) fas=x

4) WHETA

1857 & wgn foue fage ##i @ smey
g2

1) WS BEA

2) FAR BrEA

3) fecet s

4) {arEn SrEH

o e seafan &1 w 4 2
1) a=@

2) YTt

3) H

4) =g



Q.87

Q.88

Q.89

Q.90.

Who defeated Sultan Ibrahim Lodhi in the
first battle of Panipat in 1526?

1) Humayun

2)  Jahangir

3) Babur

4) Akbar

Who was the first Governor General of
India?

1) Lord Clive

2) Lord Comwallis

3) Warren Hastings

4) Lord Karjan

The Ramcharitmanas composed by Tulsi
Das was written in

1) Tamil

2)  Awadhi

3) Bhojpuri

4) Hindi

The first country to enter in India for trade
was

1)  Portugal

2) France

3) England

4) Germany

w.87

.88

u.89

.90

YA F1 9EE e 1526 H Yo SAET
@it @t frea e a2

1) &Y
2) SRR
3) @R
4) FHHFA

MIE F WH TR SR H A 917
1) @€ FarRa

2) wrE FHafas

3) ana e

4) g F54
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1) &

2) Ipadt

3) WSl

4) fedt
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1) ydma
2) WiE

3) §ds
4) St




